


x + 5 = 10, 3x + 2 = 5x + 3  

 x + 5 = 7 

x



 

a = b a + c = b + c c

a = b a − c = b − c

c 

a = b ac = bc ca 

= cb c 

a = b 
a

c
 = 

b

c
c c  0

†evW© eB‡qi Abykxjbxi cÖkœ I mgvavb

x + 4 = 13

x + 4 = 13 

x + 4 – 4 = 13 – 4 4

x = 9 

  x = 9 

x + 5 = 9

x + 5 = 9

 x + 5 – 5 = 9 – 5    5

x = 4 

   : x = 4 

y + 1 = 10

y + 1 = 10 

  y + 1 – 1 = 10 – 1    1

y = 9 

   y = 9 

y – 5 = 11

y – 5 = 11 

 y – 5 + 5 = 11 + 5     5

y = 16 

   : y = 16 

z + 3 = 15

z + 3 = 15 

 z + 3 – 3 = 15 – 3    3

 z = 12 

   z = 12 

3x = 12

3x = 12 



 
3x

3
 = 

12

3
     3

x = 4 

   x = 4 

2x + 1 = 9

2x + 1 = 9 

   2x + 1 – 1 = 9 – 1       1

2x = 8 

  
2x

2
 = 

8

2
     2

x = 4 

   x = 4 

4x – 5 = 11

4x – 5 = 11 

 4x – 5 + 5 = 11 + 5      5

4x = 16 

 
4x

4
 = 

16

4
     [ 4 

x = 4 

   : x = 4 

3x – 5 = 17

3x – 5 = 17 

  3x – 5 + 5 = 17 + 5      5  

  3x = 22 

 
3x

3
 = 

22

3
       3

 x = 
22

3
 

   x = 
22

3
 

7x – 2 = x + 16

7x – 2 = x + 16 

  7x – 2 + 2 = x + 16 + 2    2 

 7x = x + 18 

 7x – x = x + 18 – x     x 

 6x = 18 

 
6x

6
 = 

18

6
     6 

x = 3 

  x = 3 

3 – x = 14

3 – x = 14 

 3 – x – 3 = 14 – 3     [ 3 

 

 – x = 11 

 ( – 1) ( – x ) = ( – 1) 11      [ (–1)  

 

  x = –11 

   : x = –11 

2x + 9 = 3

2x + 9 = 3 

 2x + 9 – 9 = 3 – 9  [ 9  

 2x = – 6 

2x

2
 = 
– 6

2
  [ 2  

x = – 3 

   : x = – 3 

6 14

x

 2x  6 2x + 6 

  2x + 6 = 14 

  2x + 6 – 6 = 14 – 6    6

2x = 8 

  
2x

2
 = 

8

2
 2



x = 4 

  4 (Ans.) 

5 11

x 

             5 x – 5 

 x – 5 = 11 

  x – 5 + 5 = 11 + 5 5

x = 16 

  16 (Ans.) 

7 21

x 

  7 7x 

 7x = 21 

  
7x

7
 = 

21

7
 7

x = 3 

  3 (Ans.) 

4 3 23

x 

  4 4x 3 4x + 3

4x + 3 = 23 

  4x + 3 – 3 = 23 – 3     3

4x = 20 

  
4x

4
 = 

20

4
     4 

x = 5 

  5 (Ans.)

5 3

32

x 

   5 5x 

   3  3x 

   5 3 5x + 3x

 5x + 3x = 32 

  8x = 32 

  
8x

8
 = 

32

8
     8 

x = 4 

  4 (Ans.) 

24

x 

  4x 

  2x 

  

4x − 2x

 4x – 2x = 24 

  2x = 24 

  
2x

2
 = 

24

2
    2 

x = 12 

  12 (Ans.) 

2

10

x

2 x – 2 

 x – 2 = 10 

  x – 2 + 2 = 10 + 2 2 

x = 12 

   12 (Ans.)

25

x

 4x

(x + 4x)

x + 4x = 25 

   5x = 25 

  
5x

5
 = 

25

5
      5 



 x = 5 

  5 (Ans.)

30

x

  x + 2 

 x + x + 2 = 30 

   2x + 2 = 30 

   2x + 2 – 2 = 30 – 2   2

 2x = 28 

  
2x

2
 = 

28

2
       2

x = 14 

   14 = 14 + 

2 = 16 

  14 16 (Ans.)  

27

x 

  x + 2 

  x + 2 + 2 = x + 4 

  x + x + 2 + x + 4 = 27 

  3x + 6 = 27 

  3x + 6 – 6 = 27 – 6   6

3x = 21 

  
3x

3
 = 

21

3
      3  

  x = 7 

    7 

   x + 2)  (7 + 2)  9 

 x + 2 + 2)  (7 + 4)  11 

  7, 9  11 (Ans.) 

2

x x

36

320

x

 (x + 2)

  2

2(x + 2 + x)

   = 2(x + x + 2) (Ans.)

2(x + x + 2) 

2(x + x + 2) = 36 

   2(2x + 2) = 36 

  4x + 4 = 36 

  4x + 4 – 4 = 36 – 4  4

4x = 32 

  
4x

4
 = 

32

4
       4

x = 8 

  8 (Ans.)

8

  (8 + 2)  10

 

10  8)  

   = 80

  80 320

  
320

80
4

 4

(Ans.)

24

x x 



y 

4 y

x

  x + 1

  x + 1 + 1 = x + 2 

  x + 1  x + 2 (Ans.) 

x + x + 1 + x + 2)

 x + x + 1 + x + 2 = 24 

  3x + 3 – 3 = 24 – 3  3

3x = 21 

  
3x

3
 = 

21

3
     3

x = 7 

  7,  

     x + 1) 7 + 1)  8 

  x + 2) 7 + 2)  9 

  7, 8  9 (Ans.)

y 2y 

 = (7 + 9) 

= 16

 2y = 16 + 4 

  2y = 20 

  
2y

2
 = 

20

2
  2

y = 10 

  y 10 (Ans.) 

 

 

 

 

AwZwi³ m„Rbkxj cÖ‡kœi DËi 



43

x

p 9

1 : 8

  

x 

  3x + 3 

 3x + 3 + x 

= 43. 

3x + 3 + x = 43 

  4x + 3 = 43 

  4x + 3 − 3 = 43 − 3 3

 

  4x = 40 

  
4x

4
 = 

40

4
 4  

 x = 10 

 10

3x + 3 = 3  10 + 3     [ 

x = 10] 

  = 30 + 3 33 

  33 10 Ans.) 

33 10



p 10 − p

9 33 − 9

(10 − p) : (33 − 9) = 1 : 8 

  
10 − p

33 − 9
 = 

1

8
 

  
10 − p

24
 = 

1

8
 

  10 − p = 
24

8
 

  10 − p = 3 

  − p = 3 − 10 

  − p = − 7 

   p = 7      [ (−1) 

 7 (Ans.) 



27 

  

= x 

x + 2 

 x + 4 

 

27.

x + x + 2 + x + 4 = 27 

x + x + 2 + x + 4 = 27 

x + x + 2 + x + 4 = 27 

   3x + 6 = 27 

   3x = 27 – 6 

   3x = 21 

   x = 
21

3
 

   x = 7 

  7 

7 + 2 = 9 

7 + 4 = 11 

7, 9 11 (Ans.) 



33

x 

x 

  

x 

  x + 1

x + 2 

 x + 1 x + 2 (Ans.) 

x + x + 1 + x + 2 = 33 

x + x + x + 1 + 2 = 33 

 3x + 3 = 33 

 3x = 33 – 3 

 3x = 30 

 x =
30

3
 

 x = 10 

   10 

x + 1 = 10 + 1 = 11 

x + 2 = 10 + 2 = 12 

 10, 11 12 (Ans.) 



3  12 = 36 

x, x + 2 

 x + x + 2 = 36 

 2x + 2 = 36 

 2x = 36 – 2 

 x = 
34

2
 

   x = 17  

  17  (17 + 2) 

19 

  17  19 (Ans.) 



38. 

  

x x 

  

 = x 

 = x – 2 

 x – 2 + x = 38 

 x + x − 2 = 38 

 2x – 2 + 2 = 38 + 2 2

 2x = 40 

 
2x

2
 = 

40

2
 2  

 x = 20 

 20 

20 – 2 = 18 

  20 18 (Ans.) 

x x – 2 

 2

 2(x + x – 2)  

 2(2x – 2)  

 2(2.20 – 2) x = 20

 2(40 – 2)  

 2.38  

 76  (Ans.) 



7x + 4 = x + 16 

  

7x + 4 = x + 16 

 

7x + 4 = x + 16

 7x – x + 4 = x – x + 16 x

 6x + 4 = 16 

 6x = 12 

 
6x

6
 = 

12

6
 6  

 x = 2 (Ans.) 

 = 7x + 4

= 7  2 + 4 x

  = 14 + 4 = 18 

 = x + 16 

  = 2 + 16  x

 



2 

 



x x 

36 

 320

  

 x  (x + 2)

2

2(x + 2 + x ) 

2(2x + 2)  

(Ans.)

2(2x + 2) = 36 

   2x + 2 = 
36

2
 

   2x + 2 = 18 

   2x = 18 – 2 

   x = 
16

2
 

   x = 8 

  8  (Ans.) 

= 8

 = (x + 2) 

= (8 + 2) = 10 

 = 

= (10  8) = 80 

80 320 

 1 
 320

80
 

  = 4  

 4 (Ans.) 



4 

 x

x

 48

 8580

  

 4

  x 

 (x − 4) 

 

 x (x – 4)

 48

 2 48

2(x + x – 4) = 48 

   2x – 4 = 
48

2
 

   x = 
28

2
 = 14 

   14

(x – 4) = (14 – 4)

 10 

  10  (Ans.)

 x(x – 4)

 14(14 – 4)

 14  10

 140

  140 8580

 1 
8580

140
 



 
429

7

61
2

7
  (Ans.)



24. 

 x

 x

y 

 4 y 

  

 x 

  x + 1 

 x + 2 

 x + x + 1 + x + 2 = 24  

 3x + 3 = 24 

   3x = 24 − 3 

 3x = 21 

 x = 
21

3
 

 x = 7 

  7 

 (7 + 1) 8 

 (7 + 2) 9 

 7, 8 9 (Ans.) 

y  2y 

 7 

 9. 

2y = 7 + 9 + 4 

2y = 20     

 
2y

2
 = 

20

2
 2  

 y = 10 

 y  10 (Ans.) 



7x − 2 = x + 16 

  

2x + 1 = 5 

7x − 2 = x + 16 

7x − x = 16 + 2 

6x = 18 

6x

6
 = 

18

6
 6  

   x = 3 

  3. (Ans.) 

7x − 2 = x + 16 

7x − 2  

  = 7  3 − 2 [ x = 3] 

  = 21 − 2 = 19  

x + 16 

  = 3 + 16 [ x = 3] 

  = 19 

  

 



84

4

x



  

x 

 (x  3 + 4) = (3x + 

4) 

x + (3x + 4) = 84

  x + 3x + 4 = 84 

 4x + 4 = 84  

 4x + 4 = 84 (Ans.) 

4x + 4 = 84 

  4x + 4 − 4 = 84 − 4    4

4x = 80 

4x

4
 = 

80

4
    4  

   x = 20

 20 (Ans.) 

 20 

 (3x + 4) = (3  20 + 

4) 

  = (60 + 4)  = 64  

10 (20 + 10) 30 

10 (64 + 10) 74 

 74 30  

(Ans.) 



2 : 3.

x 

5 : 1

11

  

2 : 3 

 2 + x) : 3 = 5 : 1 

  
2 + x

3
 = 

5

1
     

2 + x

3
 = 5 

2 + x

3
 = 5

 2 + x = 3  5 [ 3

2 + x = 15 

 2 + x − 2 = 15 − 2 2 

 

 x = 13 

  13 (Ans.) 

13 

  (2  13 − 11) 

(26 − 11) 15

 15 
2

3
 ) 10

10 15

(Ans.) 



10

22 

6 5

  

x 

10

 x 10 10x

10x + x = 22 



  10x + x = 22 (Ans.) 

10x + x = 22

  11x = 22 

  
11x

11
 = 

22

11
 [ 11 

 

   x = 2 

 1 x  2 

1 10x  10  2 20 

 2 20

(Ans.) 

1 x 

 5 (5  x) 5x 5  

2 

10

1 10x 

6 6  10x  60x

60  2 120

60x + 5x = 120 + 10 = 130 

 60x + 5x = 130 (Ans.) 
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

33

2x + 1

2x + 5 9, 11 13 12



8

x

y 10

y

5x − 2x = x + 8 4. 7



a

2 320

36  a

4(a − 1) 10 4



90

x x 

y 

4 y

 (x + 2) (x + 4) 28, 30 32 14



48

y

x x 



3x 12 9

eûwbe©vPbx cÖkœt 

 

K  M N

 =  

 K    M  N 

 =  

 K    M  N 

 

 L M N  

 

 L M N

 

K  M N

 x + 3 = 7 

K x + 5  x + 3 M 7 N − 7

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 −

i. 

 ii.  x, y, z

iii.  

 

K i  ii L i  iii M ii  iii  i, ii  iii

 x + 1 = 5 −

i. 

ii. x + 1 

 iii. x

 

K i  ii L i  iii  ii  iii N i, ii  iii

Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

x + 2 = 3

 

K 1 L 2 M 3  x

 

K 1 L 2  3 N x + 2 

mvaviY enywbe©vPwb cÖ‡kœvËi 

 

 L

M N

 

K 2x + 3y = 7 L 2x = 2y − 5

 x + 3 = 3x − 5 N 2x + 3y + 8 = 0 

 

 3x + 2y = 10 L 5x + 7 = 3x + 8

M 3x + 4 = 12 − x N 3x = 5 − 2x 

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 i. 8x – x = 40 + 2x 8

ii. 16x + 2 = 50 3 

 iii. 20x – 2x = 36 5 

 

 i  ii L i  iii M ii  iii N i, ii  iii

 x + 1 = 5 −

 i. ii. x + 1 

 iii. x  

 

K i  ii L i  iii  ii  iii N i, ii  iii

mvaviY enywbe©vPwb cÖ‡kœvËi 

 3x − 5 = 10 



K 3  5 M 4 N

5

3

 5x − x = 8  x 

 2 L 3 M 4 N 5

 2x = 18  

K x + 3 = 10  x − 2 = 7 

M 2x + 1 = 16 N x − 1 = 7

 x + 3 = 10

K 4  7 M 8 N −13 

 x + 3 = 10 x = 10 − 3  x = 7

 4x = 16  x + 3

K 4 L 8  7 N 12 

 12 – x  = 7  x =

 5 L 2 M 4 N – 2 

 3x = 9  x = 

 3 L 9 M – 3 N 0 

 x + 2 = 5 x 

 3 L 4 M 5 N 6 

 x + 2 = 5 x = 5 − 2 = 3 

 4x + 2 = 18

 4 L 3 M 2 N −2

 3x − 5 = 13 x 

K 3 L 4 M 5  6

 5x − 2 = 23 x 

K 4 L 3  5 N 9

 6x + 5 = 11 x 

 1 L 2 M 3 N 4

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 −

 i.  

 ii. 

iii.  

 

 i  ii L i  iii M ii  iii N i, ii  iii

 iii

 

 i. x + 3 7 4

ii. a + 10 = 20 5

 iii. 3x + 5 = 26  7

 

K i  ii  i  iii M ii  iii N i, ii  iii

 a = b − 

 i. a + c = b + c ii. ac = bc 

iii. 
a

c
 = 

b

c
 

 

K i  ii L i  iii M ii  iii  i, ii  iii

Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

−

 2x = 6 + x 

 

K 5 L −5  6 N −6

 x = 2 

K −6 L 6  4 N −4

 x = 3 

K 5  9 M 12 N 15

−

 6x − x = 40 − 3x 

 

 5 L 6 M 10 N 12 

 6x − x = 40 − 3x 

  5x = 40 − 3x 

  5x + 3x = 40 − 3x + 3x 

  8x = 40  x = 5 

 x = 2

K 30  34 M 38 N 48

 x = −1

K −10 L 10 M 5  −5

mvaviY enywbe©vPwb cÖ‡kœvËi 

 

K 

M N



 3 y

16

K y + y − 3 = 16  2(y + y + 3) = 16

M y + 3 = 16 N 2(y + 6) = 16

 3 45

K 5 L 9 15 N 18

 7 5 54

K −7  7 M 8 N −8

  15

10

 5 L 10 M 20 N 25  

 x + 3 = 9 

K 3 L 4 M 5  6 

 8x = 24 

 3 L 4 M 5 N 6 

 2 24

K 8 L 9 M 10  11

 25 40 

K 5 L 10  15 N 20

 3 2 20

K 3x − 2 = 20  3x + 2 = 20

M 6 − 3x = 20 N 3x − 2 = 

−20

 

K x, x + 1, x + 2 L 2x − 1,2x − 2, 2x − 3

 2x, 2x + 2,2x + 4 N 3x, 3x + 1, 3x + 2 

 10

15

K 35  40 L 45 N 50

 2  + 10 = 2  15 + 

10 = 40 

 6x – 4x = 8  3x – 5 =?

K 1 L 0  7 N 2 

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 

 i. 

ii. 

 iii.  

 

K i  ii L i  iii M ii  iii  i, ii  iii

 x 3 21 −

 i. x 3 3x ii. 3x = 21 

 iii. 7

 

K i  ii L i  iii M ii  iii  i, ii  iii

 

i. x x 2x + 3x 

 ii. x 2x + 3

iii.  x x

2x 

 

K i  ii L i  iii M ii  iii  i, ii  iii

 i. x, x + 1

 ii. 45 25

iii. 10  6 

4  

 

K i  ii  i  iii M ii  iii N i, ii  iii

Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

−

24

  8

K 10  16 M 20 N 32 

  6

K 6 L 16  9 N 12 

 4

K 8 L 12  16 N 20 

−

 54 x 



 x 

 17 L 19 M 9 N 10 

  2x 29 x 

K 10  5 M 15 N 20 

  3x 3x 

x 

 3 L 6 M 9 N 12 

−

5 3

17

 −

K 5x − 3 = 20x  5x − 3 = x + 17

M 5x − 3 = 17 N 5x − 3x = x + 17 

 

K −6 L −5  5 N 3

 7 26

K 1 L 2  3 N 4

−

 90

 x

K 28 L 30  31 N 34

 −

K 26, 27, 28 L 28, 29, 30  29, 

30, 31 N 30, 31, 32

 29, 30 31 29 + 30 

+ 31 = 90.

 

4

K 13  14 M 15 N 16


